repeating cycle 30

1 6 0.1(6) 6 1
5 7 0.(714285) 714285
1 250 0.004(0) 0 1
3000 00
50

50 0
16 1 6 0106
57 1
1 250 5/7=0.(714285)
00 6

1/250=0.004(0)

16 1 6 0.1(6)
57 1

1250 5/7=0.(714285)
00 6

1/250=0.004(0)

(word crosses) 30

DEFER PREFECT
E PREFECT EDFER R




"Unable to make two crosses'
AT PART RIGHT BUT B
P U
AT RIGHT
R
T
PEANUT BANANA VACUUM GREEDY Unable to make two crosses
40
180
4321 6
Internet 50
Internet N N 1
N 1 N
N
N 1
N
Internet.dat Internet N 1<=N<=10000
X A(,J |
J Al,) A@G D Al, ) X
| J A(l,1) 0

1<=I<=N



A2, 1)
A3 1), A3, 2)
A(4,1),A(4, 2), A4, 3)

AN, 1), AN, 2)....A(N, N-1)

0 0
5 35
50
30 5
100 20 50
10 X X 10
01 01 Sequence 50
7 N A0 BO LO Al L1 01 S1S2S3 Si SN
1 S=0 S=1 1<=i<=N
2 S LO SS 1 § LO 1 1<=j<=N-LO+1 O
A B
3 S L1 S§ 1 § L0 1 1<sj<=N-LO+1 1
Al Bl
N 6 AO 1 BO 2 LO 3 A1 1 B1L 1 L1 2
01 S 010101
Sequence.dat 7 N A0 BO

LO Al Bl L1 3<=N<=1000 1<=A0<=B0<=L0<=N 1<=Al1<=Bl<=L1<=N

01 1
01

6 1 2 3 1 1 2 010101




50

26 IIAII IIZII
26

"More words needed"

N=3 ABC
BAC
CAB
CBA

40

"Better estimate needed"

80 150 15 1

© )

80 "24

(2*2)/4 2+ (2/4)

5 1 2 37 100 573 573
(((100-1)*2)-7)*3




6 5 Mi, 1<=Mi<=100,

T 1<=T<=1000
1237100573 573
01 50
n ak ak-1....ala0
n=a* 2+aq* 2+ ... +a*2+a a=0 1 1=1<K),a=1 10 1010
5 101 &......a k+1 0 1 k+1
0 1 n A m 1~-m A

m (1< m< 10%°).

1-m A




